
2

5

4

7

3

11

8 1109

12

6

13

15

11

4

8

REVISIONS
REV. DESCRIPTION DATE APPROVED

1 UPDATED ASSEMBLY AND DRAWING 1/24/17 TJS

ITEM NO. PART NUMBER DESCRIPTION Closed/QTY.
1 51200001 REV3 103BQS Wall Seat - Back 1
2 51200002 REV2 103BQS Wall Seat - Seat 1
3 51200010 REV0 Wall Seat Backerplate 1

4 51200005 REV4 103BQS Wall Seat - Hinge for 
Seat 2

5 51200003 REV2 103BQS Wall Seat - Hinge Rod 1
6 A053 Nut Flanged Shoulder Nut 1

7 51200004 REV5 103BQS Wall Seat - Hinge for 
Back 1

8 A003 INS #8-32 Threaded Insert 3

9 13100001 REV0 Wall Seat Warning Label - 
Polycarbonate 1

10 E034 0.9in x 3in Logo 1

11 A005-SCREW 8-32 x 3/8" SS Socket Flat Head 
Screw 2

12 A007-SCREW 8-32 X 1/2" Thread-Locking PH 
Phil Mach Screw 1

13 A027-WASH Nylon 6/6 General Purpose Flat 
Washer 2

14 Locktite Locktite 242 (Applied inside 
A053-NUT) 1

15 SI263 Model and Date Label (Brocar 
E011-LABEL) 1

16 SI256G Instruction Sheet 1

17 D008-BOX Wall Seat Carton (12.375" x 
4.125" x 16" 32ECT) 1

18 A101-HDWR Hardware Kit 1

SHEET

1 OF 3

SIZE:

B

DRAWN BY: DATE:

PART NO:

7001 WOOSTER PIKE, MEDINA, OHIO 44256
www.foundations.com

QTY:

SYMBOL REPRESENTS CRITICAL CONDITION
TO BE INSPECTED DURING ALL QUALITY AUDITS.X

REV:

5806086 1

1/24/17

Foundations Wall Seat

TJSCRITICAL DIMENSION QUANITY

DESCRIPTION:SCALE:

PROPRIETARY AND CONFINDENTIAL 
THE INFORMATION CONTAINED IN THIS DRAWING IS THE EXCLISIVE PROPERTY OF FOUNDATIONS 

WORLDWIDE, INC.  ANY REPRODUCTION OR USE OF THIS DRAWING, IN PART OR IN WHOLE WITHOUT 
THE EXPRESSED PERMISSION OF FOUNDATIONS WORLDWIDE, INC IS PROHIBITED.

1:5

Z:\Products\Changing Stations\580608 - Wall Seat (was 103BQS)\SolidWorks\

  DIMENSIONAL TOLERANCES:
(UNLESS OTHERWISE SPECIFIED)
 

 

 MACHINED ANGLES:   0.5°     
 BEND ANGLES:  1.0°
  

 0.X:       1.0mm   [0.04 in]
 0.XX:     0.5mm   [0.02 in]
 0.XXX:   0.25mm [0.01 in]0



 16.22in
412.01mm

 

 8.52in
216.41mm

 

 8.00in
203.16mm

 

 11.49in
291.94mm

 

 13.29in
337.61mm

 

 15.53in
394.51mm

 

 11.89in
301.99mm

 

 3.81in
96.72mm

 

SHEET

2 OF 3

SIZE:

B

DRAWN BY: DATE:

PART NO:

7001 WOOSTER PIKE, MEDINA, OHIO 44256
www.foundations.com

QTY:

SYMBOL REPRESENTS CRITICAL CONDITION
TO BE INSPECTED DURING ALL QUALITY AUDITS.X

REV:

5806086 1

1/24/17

Foundations Wall Seat

TJSCRITICAL DIMENSION QUANITY

DESCRIPTION:SCALE:

PROPRIETARY AND CONFINDENTIAL 
THE INFORMATION CONTAINED IN THIS DRAWING IS THE EXCLISIVE PROPERTY OF FOUNDATIONS 

WORLDWIDE, INC.  ANY REPRODUCTION OR USE OF THIS DRAWING, IN PART OR IN WHOLE WITHOUT 
THE EXPRESSED PERMISSION OF FOUNDATIONS WORLDWIDE, INC IS PROHIBITED.

1:5

Z:\Products\Changing Stations\580608 - Wall Seat (was 103BQS)\SolidWorks\

  DIMENSIONAL TOLERANCES:
(UNLESS OTHERWISE SPECIFIED)
 

 

 MACHINED ANGLES:   0.5°     
 BEND ANGLES:  1.0°
  

 0.X:       1.0mm   [0.04 in]
 0.XX:     0.5mm   [0.02 in]
 0.XXX:   0.25mm [0.01 in]0



INCLUDED ITEMS TO BE PACKED IN CARTON (D008-BOX)
- 5806086 Foundations Wall Seat
- A101-HDWR Hardware Kit
- SI256G Instruction Sheet

1

HARDWARE KIT A101-HDWR (ABOVE)
TO BE INCLUDED IN THE CARTON

2
3

4

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 A033-PLUG 2740-2741 HEYCO COVERS 4
2 A008-WASH 1/4" USS Flat Washer 4

3 A082-SCREW 1/4-20 x 1.25" Machine Screw - 
Philllips Drive 4

4 A115-T-NUT 1/4-20 x 9/16" T-Nut 4

SHEET

3 OF 3

SIZE:

B

DRAWN BY: DATE:

PART NO:

7001 WOOSTER PIKE, MEDINA, OHIO 44256
www.foundations.com

QTY:

SYMBOL REPRESENTS CRITICAL CONDITION
TO BE INSPECTED DURING ALL QUALITY AUDITS.X

REV:

5806086 1

1/24/18

Foundations Wall Seat

TJSCRITICAL DIMENSION QUANITY

DESCRIPTION:SCALE:

PROPRIETARY AND CONFINDENTIAL 
THE INFORMATION CONTAINED IN THIS DRAWING IS THE EXCLISIVE PROPERTY OF FOUNDATIONS 

WORLDWIDE, INC.  ANY REPRODUCTION OR USE OF THIS DRAWING, IN PART OR IN WHOLE WITHOUT 
THE EXPRESSED PERMISSION OF FOUNDATIONS WORLDWIDE, INC IS PROHIBITED.

1:5

Z:\Products\Changing Stations\580608 - Wall Seat (was 103BQS)\SolidWorks\

  DIMENSIONAL TOLERANCES:
(UNLESS OTHERWISE SPECIFIED)
 

 

 MACHINED ANGLES:   0.5°     
 BEND ANGLES:  1.0°
  

 0.X:       1.0mm   [0.04 in]
 0.XX:     0.5mm   [0.02 in]
 0.XXX:   0.25mm [0.01 in]0


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5

	Sheet3
	Drawing View6
	Drawing View7
	Drawing View8


